
 

 مدارس الأوائل النموذجية الخاصة للبنات
     )C (لمادة اللغة الانكليزية للصف الثالث الثانوي العلمي  نموذج  8201-2017الأولى للفصل الأول للعام  المذاكرة سلم تصحيح أسئلة 

1. Because the modern world uses so much paper.                                                               (6 marks) 
2. when it is buried in the ground                                                                                              (6 marks) 
3. No, it doesn't. Because trees are a commercially grown long-term crop.                              (6 marks) 
========================================================================== 
4.   rots   ( 5 marks )                                                      5.  wood pulp    (5 marks)      
========================================================================== 
6. There is an increasing awareness in Syria of the need to recycle both paper and other materials. / The 

Syrians are more aware of the need to recycling.                                                               (6 marks) 
7. Nearly all new paper is made from wood grown in sustainable forests. / Some recycled paper is made 

from household waste paper.                                                                                             (6 marks) 
========================================================================== 
8.  b. some of the          (6 marks)                                                  9.     c. unaccepted               (6 marks) 
========================================================================== 
10. spares                      (6 marks)                                                 11.   vacuum                        (6 marks) 
========================================================================== 
12. all the machinery and seals                                                                                                   (6marks ) 
13. a highly trained, skilled and hard-working team                                                                    (6 marks) 
========================================================================== 
14. has  ( 6 marks )            15. been  ( 6 marks )               16. them ( 6 marks )        
========================================================================== 
17. fight  (6marks)             18. further  ( 6 marks )      19. fed (6 marks)      20. work (6 marks)    
========================================================================== 
21. How long have people known migration?                (8 marks) 
22. Why do migrants have to leave their home countries?                                                  (8 marks) 

23. When did about 170 million people leave their countries? / How many people left their countries in the 

year 2000?                                                                                   (8 marks) 
24. Any logical answer is accepted.                                                                 (8 marks) 
========================================================================== 
25. I wish I weren't / wasn't a very slow reader. / I wish I weren't such a slow reader.             (8 marks) 
26. It’s almost impossible to get a passport quickly. There is so much red tape.                      (8 marks) 
27. My journey to work gets worse every day. I don’t think I can put up with it for much longer.  

(8 marks) 

28. Many people recycle their rubbish in order not to use up the world’s resources.  / In order not to use 

up the world’s resources, many people recycle their rubbish.                                                (8 marks)            
========================================================================== 
29.  present simple tense                                                                  (7 marks)   
30.  past continuous                                                                          (7 marks) 
========================================================================== 
31. legal ( 6 marks )             32. so that  (6 marks )                             33.  weather   ( 6 marks )  
========================================================================== 
34. had gone / had been ( 6 marks )                                                       35. were     ( 6 marks )                 
36. Have your friend done / Have your friends been doing           ( 6 marks)    
============================================================================ 

                                      ( marks 10 ) .بية لذلك تضعف العظام والعضلات بسرعةفي الفضاء لا توجد جاذ   .37
 

38. Countries need more / extra / additional farmland / farming land / agricultural land to grow / plant 
food for the growing population.                                                                                        ( 8 marks)  


